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random processes
variables

are based on two



RANDOM VARIABLES

RANDOM
VARIABLES

DISCRETE CONTINUOUS



=y,

ditional probabilities function of X

is given by P(X/Y)



Example |

From the following joint distribution of X and Y find the marginal distributions.
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Solution

0 2 Py(y) = p(Y=y)
328P(00) | 328 P20) | 15028=Py(0)
AP0, 1) [314P(L1) | 6/14=P,(1)

N8P02) |0PQ2) [108=P,2)
1008 =5/14 | 3028
Px(0) Px(2)

Px(X) = P(X=x) 1

The marginal distribution of X
Px(0) =P(X=0)=p(0,0)+p(0,1)+p(0,2)=5/14
Px(1) =P(X=1)=p(1,0)+p(1,1)+p(1,2) = 1528
Px(2) =P(X= 2) p(2,0) t p(2,1)+p(2,2)=3/28




The marginal distribution of X
Px(0) =P(X=0)=p(0,0)+ p(0,1) + p(0,2) = 5/14
Px(1) =P(X=1)=p(1,0)+p(1,1) +p(1,2) = 15/28
Px(2) =P(X=2)=p(2,0)+p(2,1) +p(2,2) = 3/28
Marginal probability function of X is
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Px(x) =




The marginal distribution of Y
Py(0) =P(Y=0)=p(0,0)+ p(1,0) + p(2,0) = 15/28
Py(1) =P(Y=1)=p(0,1) +p(2,1) + p(1,1) = 3/7

Py(2) =P(Y=2)=p(0,2) + p(1,2) + p(2,2) = 1/28
Marginal probability function of Y is
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